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Candidates are required to give their answers in 

their own words as far as practicable. 

The questions are of equal value. 

Answer any five questions. 

1. What do you mean by rationalization ? Discuss 

the policy of Indian Government towards rationali-

sation. 

2. Explain Holding Company form of organisation. 

Discuss the causes of its popularity in India. 
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3. Define Industrial Localisation. Discuss the 

causes which influence localisation. 

Define Capitalism. Discuss its important 4 
features. 

5 Out of public and private sectors which sector is 

more efficient ? Why both of them are stressed 

for the balance growth of the economy? 

fe1 TAI ? 

Discuss the various sources of Industrial Finance 6 
in India. 

7. Explain the company form of organisation in 

public undertakings. Why has this form of 

organisation has been preferred in India ? 
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8 Discuss the merits and demerits of Workers 

Participation in Management of Public 

Enterprise in India. 

9 Write an essay on the Indian Oil Corporation. 

10. Write short notes on any two of the following 

(a) Public Corporation 

(b) Division of Labours 

(c) Socialism 

(d) Monopoly 
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